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= 222,226
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=2 130,723
L= 1,365,874
Al 3,267,043
A2l MAH EE 5,109,084 4,552,608 556,476
=2 218,947
| 1,608,926
=2 130,723
L= 914,235
Al 2,236,253
H2ZEZAl =& 21,540 72,600 251,060
AL Al F& 21,540 72,600 251,060
201 2Bt 21,540 22,600 A1,060
01 AtR22lt| 21,540 22,600 21,060
ORFAl AL LA L3
1,500& *3,000F *22] 9,000
OSAA SEOHHYAAR et
1,600& *2,500% 4,000
OF&Al HdZHEMHE & NAEA2Z 2%
oo Hexd 70,0002 »22& 1,540
Oustel=H2E A3 A3l
2,000,000&*13l 2,000
OdaEH & HAZTAIALE =& 5,000,000 5,000
HAAZZ ) H2H 1,856,597 1,289,152 567,445
J| 346,655
=2 130,723
= 345,088
Al 1,034,131
AL M AT ALY 11,700 13,440 A1,740
201 Zet23d] 9,900 11,400 21,500
01 AtSZeltl 9,900 11,400 A 1,500
OAZEA WS AI 150, 000& *102] 1,500
OFUEHAO (MBS 2I) HAxH 8,400
—J|2 70,0003 *7H *123] 5,880
— =1 30,000& *7H *123] 2,520
301 LEEAE 300 540 A240
12 JIEt2 4= 300 540 A240
OFAZAHA(MEN RS |17 SZ0H|
20,000 *5H +33] 300
307 21201 1,500 1,500 0
01 A g2¥3=z| 1,500 1,500 0
O2sxes ARSH| 1,500,000 1,500
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Al 10,000
04 JIZtHZ2E2NHSE+ 20,000 62,739 AN42,739
OSiXt SXAT22 o124
20,000,000 20,000
| 10,000
Al 10,000
201 et 17,000 17,761 AT61
Jl 8,500
Al 8,500
01 AtR2teiHl 17,000 17,761 AT61
OECA SsHAAZZ ] 23|
5,000,000 5,000
Jl 2,500
Al 2,500
Os=¢ A& MBI A 12,000,000 12,000
Jl 6,000
Al 6,000
202 OdH| 2,000 4,500 22,500
Jl 1,000
Al 1,000
01 =LA 2,000 4,500 22,500
OsaXZAY el WS 2 S0
2,000,000& 2,000
Jl 1,000
Al 1,000
307 212told 63,600 40,420 23,180
Jl 31,800
Al 31,800
01 S+ =H] 63,600 40,420 23,180
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Al 2,800
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OSfh2teltl s 6,000,000 6,000
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201 2pt23d] 3,000 3,000 0
03 A2 3,000 3,000 0
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307 QoI 8,000 8,000 0
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OXIt +ZHl 1,000,000 1,000
OXta &2 7,000,000& 7,000
AT LAY 414,504 194,675 219,829
101 Ql24d| 20,504 16,375 4,129
04 JI1ZtM22 &t 20,504 16,375 4,129
OLAHAL & 16,402
—JIE= 50,0003 2%« 120 12,000
—F=5 50,0003 *2H 24 2,400
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—A2=2E 15,000,000 *26.65/ 1,000 400
—=300AHz 15,000,000 *45/1,000 675
—1NE=2E 15,000,000 %13/1,000 195
— A HEE 15,000,000 *7/1,000 105
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O A EZH A AXHA S AEl 30,000,000 30,000
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L= 2,000
02 QItAAE X 2,000 1,000 1,000
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| 4,280
Al 4,280
307 gIZtold 2,620 0 2,620
| 1,310
Al 1,310
01 9|22 R2H| 2,620 0 2,620
OLQIEATE AHUY FF ADEH|
2,620,000 2,620
| 1,310
Al 1,310
LSO X B EAS 215,720 0 215,720
J| 107,860
Al 107,860
307 glztold 215,720 0 215,720
| 107,860
Al 107,860
01 S22 =4I 215,720 0 215,720
OL QIO XIS E AL 215,720,000& 215,720
| 107,860
Al 107,860
o2 X AAS 2,956,594 2,944,503 12,091
= 218,947
| 1,262,271
= 569, 147
Al 906,229
SHEZ AL 87,747 91,793 24,046
101 Ql24d| 20,402 18,375 2,027
04 JI2tNI2Z2 RS2+ 20,402 18,375 2,027
OTZYR BTAY ol 16,402
=Jlaa 50,0003 1 240 12,000
—F=5 50,0002 *1H 48 2,400
— X 50,0003 1H*12& 600
—A2=2E 15,000,000 26.65/1,000 400
—=30dH3z 15,000,000 *45/1,000 675
—NE=2E 15,000,000 %13/1,000 195
— A HEE 15,000,000 *7/1,000 105
—LoEIRAEE 399, 7502 %65.5/1,000 27
O92Jl& Ay 2X012Y
80,000 1 +25 2,000
OX DA SAEHEAY B2
80,0002 »1H+25 2,000
201 LEt23H| 10,000 12,000 22,000
02 224l 10,000 12,000 22,000
O2lg &l Sl 10,000, 000& 10,000
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SA B ER(S) - MRAE - BaS Of &r e HIDE
203 R4l 6,000 5,000 1,000
03 A=Y RFAIH] 6,000 5,000 1,000
O=Edd= AMAIY HRFX 6,000,000 6,000

301 &eteas 19,200 20,500 21,300

09 SU2RRILHS 18,000 18,000 0

OF2d%s A=A SA
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12 JIe2d=2 1,200 2,500 21,300
2RfAEN Xz & 24= 100,0002 3 300
OUetelAtglal e 2tEaelg 300,000 34 900

307 glz2told 32,145 35,918 A3,773

01 22T =ZH] 14,000 17,800 A3,800
Otlgd A2Z 1,000,000& 1,000
Osclizd 22| 1,000,000 1,000
Ostg =] 10,000,000 10,000
Ostegtal A2F 2,000,000 2,000

05 2IZtAE = 18,145 18,118 27
Ostdls JL20 16,860
—2S Al 1,284,850 *12& 15,419
—AH2E 15,419,000 #26.65/1,000 41
—=2lH3 15,419,000 +45/1,000 694
—Is=2E 15,419,00024%13/1,000 201
—ATHEE 15,419,000 %7/1,000 108
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307 QI2HOIA 45,000 32,200 12,800
01 A== = 45,000 32,200 12,800
Oogzadael AZ23H| 12,000,000 12,000
Oog=2ddae| 43| 10,000 x50 * 122 6,000
Oogzaddae] AZHIXH 300,000 x20& 6,000
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